National Fire Equipment Ltd.

PUMP MAINTENANCE

Repair kit for 4 stage pumps. Comes complete with all tools
shown here. Call our factory for detailed instructions how to
dis-assemble and re-assemble the 4 stage pump.

8

9 N -
4
—

This tool kit includes the basic tools required to perform field
maintenance of our WICK® line of portable fire pumps.

Part# Description
T9T-KIT Repair Kit for FSP4200 4 stage pump end
Part# Description
1 79W-1665P Shaft Nut Wrench
2 79T-1313 Shaft Protector
3 | 79T-1963 Seal Installation Tool
4 79T-1964 Impeller & Distributor Removal Tool
5 | 79T-1965 Shaft Fitting Base
6 | 79T-1966 Pump Body Support
7 | 79T-1967 Shaft Removal Pin
8 79T-1208 Distributor Assembly Tool
9 | 79T-1207 Puller 4 Stage Pump
10 | 5932RG2450 Brass Expansion Ring
11 | 79T-2706 Seal Removal Tool
12 | 79T-2709 Bearing Press Removal Tool

Part# Description
70METKIT Pump Maintenance Tool Kit
Part# Description
1 78T-SPKW-1316 Spark plug wrench 13/16” / 1”
2 78T-SPKG Spark plug feeler gauge
3 | 78T-CW06 3/8” Combination Wrench
4 78T-CW10M 10 mm Combination Wrench
5 | 78T-CW07 7/16” Combination Wrench
6 | 78T-CW13M 13 mm Combination Wrench
7 | 78T-ATO6M Allan Key T-Handle 6mm x 6”
8 | 78T-SF02-2.4 Screwdriver Flat Head 1/8” x 2 3/8”
9 | 78T-SF04-4 Screwdriver Flat Head 1/4” x 4”
10 | 78T-AW8 8”/20cm adjustable wrench
11 | 78T-B1933 Grease Gun
12 | 78T-PCH6 Tool Pouch
National Fire | T sre (i 2074508 | Tob Feoer GUI-4672138 | Toll Free: Gape511008 | Tol Frews 6708163475

Equ1pment Ltd. OTTAWA: (613) 723-6071 BURNABY: (604)-299-4498 CALGARY: (403) 236-5661 MISSISSAUGA: (905) 565-1385

www.nationalfire.com




National Fire Equipment Ltd.
PUMP MAINTENANCE

This tool kit comes standard with our WICK® 375 line of
portable fire pumps.

Part# Description
71W37-TKIT Wick 375 Tool Kit
Part# Description

1 78T-CW8M 8 mm Combination Wrench
2 | 78T-CW10M 10 mm Combination Wrench
3 78T-CW13M 13 mm Combination Wrench
4 | 78T-SF04-4 Screwdriver Flat Head 1/4” x 4”
5 78T-ATO6M Allan Key T-Handle 6mm x 6”
6 | 78T-SPKW-1316 | Spark plug wrench 13/16” / 1”
7 | 78T-PCH6 Tool Pouch

This tool kit is optional with our WICK® 250 line of portable
fire pumps.

Part# Description
71W25-TKIT Wick 250 Tool Kit

Part# Description
1 78T-CWO07 17/16” COMBINATION WRENCH
2 | 78T-CW08 2 1/2” COMBINATION WRENCH
3 | 78T-CW06 3 3/8” COMBINATION WRENCH
4 78T-SF04-4 4 Screwdriver Flat Head 1/4” x 4”
5 | 78T-SPKW-1213 | 5 Spark plug wrench 13/16” / 3/4”
6 | 78T-PCH6 6 Tool Pouch

This pump test kit provides the basic essentials to accurately
measure the performance of high pressure fire pumps. The

kit contains 5 calibrated nozzle tips, a straight stream nozzle, Part# Description
short lengths of %”/19mm and 1 %2"/38mm hose, pressure 70MEPTESTQC Pump Test Kit c/w QC fittings
gauge and tool box.
70MEPTESTNH Pump Test Kit c/w NH fittings
70MEPTESTPS Pump Test Kit c/w NPSH fittings

Part# Description

70 METBOX Tool Box
70 MECN-1355 Calibrated Nozzle 1/8” diameter
70 MECN-1357 Calibrated Nozzle 1/4” diameter

R < - 70 MECN-1358 Calibrated Nozzle 5/16” diameter
70 MECN-1359 Calibrated Nozzle 3/8” diameter
70 MECN-1360 Calibrated Nozzle 7/16” diameter
235070031C Myti-Flo® %"/19mm x 3'/0.9M coupled
160150101C Fire Stop 1 %2"/38mm x 10’/3M coupled
70METG15QC In Line Pressure Test Gauge
70FL15ZBAQCTO 1 %" QC Straight Stream Alum Nozzle

National Fire | T sre (i 2074508 | Tob Feoer GUI-4672138 | Toll Free: Gape511008 | Tol Frews 6708163475

Equ1pment Ltd. OTTAWA: (613) 723-6071 BURNABY: (604)-299-4498 CALGARY: (403) 236-5661 MISSISSAUGA: (905) 565-1385

www.nationalfire.com




